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BIREE Vcc = 15V
BEFE Av =15
IIy¥EEQ2 VE=2V - Q2 VB=26V
JLY98E Q2 Ve =85V
R12&RIBICHIENR | = 0.5mA

Q2_Re(R17+R18) = Q2_Ve/Q2_Ic = 2/0.02 = 100Q

R16 = (Vcc-Q2_Ve)/Q2_Ic = (15-8.5)/0.02 = 325 = 330Q

R17 =R16/Av = 330/15 = 22Q

R18 = Q2_Re-R17 =100-22 =78 = 75Q

R12 = (Vcc-Q2_VB)/I = (15-2.6)/0.0005 = 24,800 = 24kQ

R13 =Q2_Vs/l = 2.6/0.0005 = 5,200 = 5.6kQ

AN =5V R12//R13 = 24k//5.6k = 4.5kQ

R15_1=0.6/300 = 0.002 = 2mA = VR5_| =R14_|

Q3_Ic = Q2_Ic-R15_ = 0.02-0.002 = 0.018 = 18mA
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HAHESN Po=0.5W
BT RL = 8Q
hre = 140
HAEE Vo = V/(Po-RL) = V/(0.5x8) = 2Vrms - 5.66VPpP

lc =VpPp/2/RL = 5.66/2/8 = 0.354 = 350mA = IE

IB = Ic/hFe = 0.35/140 = 0.0025 = 2.56mA - Q2_Ic = 20mA
E‘Eﬁj(ﬂjj]%']f Vmax = VCC—QZ_VC =15-85=6.5V - 4.6Vrms
JL ¥ #18% Pc = Vmax*2/RL/5 = 4.672/8/5 = 0.53W
RABREM Imax = [Ex2 = 0.35x2 = 0.7A

P_R19 = (Imax/v/(2))"2xR19 = (0.7//(2))"2x0.47 = 0.115W
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